COMMON ENTRANCE TEST - 2017
DATE SUBJECT TIME

02-05-2017 MATHEMATICS 2.30 pm to 3.50 pm

MAXIMUM MARKS TOTAL DURATION MAXIMUM TIME FOR ANSWERING

60 80 Minutes 70 Minutes
MENTION YOUR CET NUMBER QUESTION BOOKLET DETAILS
VERSION CODE / SERIAL NUMBER
XXXXXX

DOs :

]

Check whether the CET No. has been entered and shaded in the respective circles on the OMR Answer Sheet.

2. This question booklet is issued to you by the invigilator after the 2" bell i.e., after 2.30 pm.

The Version Code / Serial Number of this question booklet should be entered on the OMR Answer Sheet and the
respective circles should also be shaded completely.

4. Compulsorily affix the complete signature at the bottom portion of the OMR Answer Sheet in the space provided.

1

DONTs :
1. The timing and marks printed on the OMR Answer Sheet should not be damaged / mutilated / spoiled.
2. The 3"9 Bell rings at 2.40 pm, till then;
® Do not remove the seal present on the right hand side of this question booklet.
e Do not look inside this question booklet.
e Do not start answering on the OMR Answer Sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

—

This question booklet contains 60 questions and each question will have one statement and four distracters.
(Four different options / choices.)

2. After the 3 Bell is rung at 2.40 pm, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced
immediately by complete test booklet by showing it to Room Invigilator. Read each item and start answering on
the OMR Answer Sheet.

During the subsequent 70 minutes :

lrd

e Read each question carefully.

e  Choose the correct answer from out of the four available distracters (options / choices) given under
each question / statement.

e  Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the
question number on the OMR answer sheet.

Correct Method of shading the circles on the OMR Answer Sheet is : @ . @ @

4.  Please note that even a minute unintended ink dot on the OMR Answer Sheet will also be recognized and
recorded by the scanner. Therefore, avoid multiple markings of any kind on the OMR Answer Sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR Answer
Sheet for the same.

6.  After the last bell is rung at 3.50 pm, stop writing on the OMR Answer Sheet and affix your left hand thumb
impression on the OMR Answer Sheet as per the instructions.

7. Hand over the OMR Answer Sheet to the room invigilator as 1t is.

8.  After separating the top sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy)
to you to carry home for self evaluation.

9.  Preserve the replica of the OMR Answer Sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada versions, the English version will be taken as final.
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If A and B are finite sets and A — B, then
(A) n(AuB)=n(A) ) n(AnB)=n(B)

(O n(AUB)=n(B) D) nAnB)=¢

Cuestion ki : 1
The value of
cos® 45° — sin® 15°1s

@ 3 ® 3
2 4
© ./3+1 D) . /3-1
22 22
3+5+7+....tontermis
(A)n(n+2) B) n(n —-2)
(O n° M (n+1)

Cuestion id: 3

« 1T
If [ E) = 1, then the least positive integral
1=

value of mis

(A) 2 (B) 3

O 4 D) 1

CQuesfion id 4

If |x—2| <1, then

(A) x€[1,3] B) x€(1,3)
(O x€e[-1,3) M) xe(-1,3)
If "C,= "C, thennisequal to

(A) 26 (B) 12

©) 6 (D) 20

The total number of terms in the expansion of
(x+a)"’— (x—a)" after simplification is

(A) 24 (B) 47

(O 48 (D) 96

CQuestion b : 7

A 353 B 20@> 0003 nearisty 03 A C B ST8

(A) n(AuB)=n(A)  (B) nAnB)=n(B)
© n(AuB)=n(B) @) nANB)=¢

Cuestion kd: 1

cos? 45° — sin? 15° & e3ado

A .f3 B .J3
2 4

© ./3+1 ® 3-1
D2 22

Cuestion id: 2

34547 +.... T n TTNYRONS BT WS

(A)n(n +2) B) n(n —2)
© n’ D) (n+1)

Question id: 3

N ]
(IILJ = 1s030m 3 BOK PI0IT TRFoF 0F
e 1

e3es
A) 2 (B) 3
©) 4 (D) 1

|x —2| < 1 <53
(A) x€[1,3] (B) x€(1,3)
©) x€e[-1,3) D) x€e (—1,3)

°C,= "C, ©udn s oz
(A) 26 (B) 12
(©) 6 (D) 20

Cuestion id: 6

(x+a)"— (x—a)" S Vo FogeRRT oo
zuae% ToNY xog:zi

(A) 24

(O 48

(B) 47
(D) 06

CQuestionid: 7
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10.

11

12.

Equation of line passing through the point
(1,2) and perpendicular to the line y = 3x -1

1S

(A) x+3y—-7=0 B) x+3y+7=0

O x+3y=0 M x-3y=0

Cuestion id : 8

The eccentricity of the ellipse * y_=1
36 16
1S
(A 2./5 B) 2./5
6 4
© 2113 ® 2413
6 4
The perpendicular distance of the point

P(6,7,8) from XY-plane 1s

(A) 8 (B) 7
O 6 D) 5
1= 40

The value of lim - 0> " 24

9>0]1—cos 60
(A) 4/9 (B) 9/4
() 9/3 (D) 3/4
The contrapositive statement of the statement

“If x 1s prime number, then x 1sodd” 1s
(A) If x 1s not a prime number, then x1s not
odd

(B) If xis a prime number, then x1is not odd.
(O) If x 1snot a prime number, then x1is odd.

D) If x 1s not odd, then xis not a prime
number.

Quesfion id: 12

8.

10.

Ll ¥

12.

(1,2) WOTDIT TORVT TOTLET 30X
y= 3x — 1 IOY Teadn ©0owmNTtdE I0F¥ Teajod
HCTTEIRY

(A) x+3y-7=0 B) x+3y+7=0

© x+3y=0 D x-3y=0
QeFs g L + Y_ =] waieo@zj 233
36 16
A 2.5 ®) 2.3
6 4
© 213 @) 213
6 4

CQuestion id: 9

XY Az080008 P(6,7,8) WOTORNT ©0WTRTE WS

(A) 8 B) 7
(OR (D) 5
; 1—-cos 40
im o3 e3fosn
9->0]1_cos 60
{A)4f9 (B) 9/4
(©) 9/3 (D) 3/4

Question id: 11
X 20T BRI :Jc@jﬂ BR0 8N X WO WA
:50&5;” @m@ QUORT TEFFON TS TePT
(A) X WO LRI, F03JCWVYTIN X LOTD WA
?Joaj;odaqﬁ
X WOTD LI,  OTIRTN X WOT W=
R0as, 0D,

(C) X WOT SIO%, F033 00YTN x LOT I
5033, R

o]

(B)

X 20T WA F033,00QTN X WOTH LI

(D) %
:503% ovelJ}

Question id: 12
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13.

14.

15.

16.

17.

18.

If coefficient of variation 1s 60 and standard
deviation 18 24, then Arithmetic mean is

(A) 40 (B) 7/20

(©) 20/7 (D) 1/40

The range of the function f(x) = _/9—x? 1S
A) (0, 3) (B) [0, 3]

© (0, 3] (D) [0, 3)

Let f:R — R bedefinedby f(x)= 4*,then
(A) fis one-one and onto

(B) f may be one-one and onto

(O) f1s one-one but not onto

(D) f 1s neither one-one nor onto

Quesfion id: 15

The range of sec-lx 1s

(A) [—n :n:}
2 "2

(O [0, ]

(B) ('—n n]
PN

(D) T
o5

Cuestion id: 16

If tan™'x + tan"'y = ?, then cot™x+ cot™y
1s equal to
(A) n B) =n
5

© 2n D) 3=

5 5
If f(x)= 8x3 g(x)= x'/3 then fog(x)is
(A) 8x (B) 8%x
© (8x)Y/3 (D) 8x*®

Cuestion i 18

13.

14.

15.

16.

17.

18.

WOTH TWSOINY SRQFS TOEI0F 6 0 0B 09TT
QBT 24 SN BTT 00,083 8IS

(A) 40 (B) 7/20
(C) 20/7 (D) 1/40

f(x) = .[9—x* QST T WOLNERY

@A) (0,3) @) [0, 3]
(©) (0, 3] D) [0, 3)
f:R—>R o333  f(x) = x* <0

AR

(A) £ 20T0-2,0T0 T [oewed YOI WINTOIT
(B)  20T0-2%0T0 &) Woewed w%a;{mﬁumm
(C) [ 2WOT-20TD BTT F0ewed NWIBTF B[,

(D) f WOTO-2.0T0 B IR TV B

CQuestionid: 15

secly QU T WOWNERRY)

(A) [_n n} (B) (—n T
2“2 o,

© [0,7] (D)

Question d: 16
tan 'x + tan"'y = 4—; =38 cot™'x+ cot”ly 3
AL
(A) 1t B) =«
5
© 2=
5 5

f(x) = 8x3, g(x)= x'/? <53 fog(x) W 3
(A) 8x (B) 8%x
O (8x)/3 D) 8x3

CQuestion id: 18
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19.

20.

21.

22.

sin ' (mx)  tan ‘I(E)
1 s
If A =—- ;

. x _
n sin 1(—] cot l(irm:)
_ T

— cos ! (mx) tan _l[ l]
B = "/ |then A - B is
o] & =V
sin [—) —tan  (mx)
- T[ -
equal to
(A) 1 B) 0
(O 21 (D) 1 I
2
Cuesfion kd : 19
If a matrix A i1s both symmetric and skew

symmetric, then
(A) A 1s diagonal matrix

(B) A 1s a zero matrix

(O) Aisscalar matrix (D) A 1s square matrix

Cuestion i 20

0
If 2 L 3 + Y = > g , then the value
0 x 1 2 1 8

of xandy are
A) x=3, y=3
B) x=-3, y=3
© x=3,

® x=-3, y=-3

Cuestion id : 21

Binary operation * on R - {-1} defined by

1S

axb =

b+1
(A) * 1s associative and commutative

(B) * is associative but not commutative
(C) * 1s neither associative nor commutative

(D) * 1s commutative but not associative

Cuestion Id : 22

19.

20.

21.

22.

sin ' (mx)  tan ‘I(E)

A = 1— x T E
T |sin _1{'—] cot ' (mx)
T |
—cos ! (mx) tan ! ( i]
B = . "/ lend, A- BB
Sin "1( lj —tan " (mx)
- T[ =
i)
! (B) 0
© 21 ® 1
2

Question id: 12

A m%ﬁom RTWRON TOBY WFTRCN E:ba%'u’ ORR
eSTION A m&e}ﬁm
(A) A BeaoF Eﬂ)‘béﬁ

(C) A Q3 mzﬂé

(B) A 30T, SD%@
(D) A JNF IR T

CQuestion id: 20

1 3 y 0 5 6
2 - = STON  x @30 Y
0 x 1 2| |1 8 B
ne 3Sned

A) x=3, y=3 B) x=-3 y=3

© x=3, y=-3

D x=-3, y=-3

R - {-1 } neows oeds, qa*h = T ert
b+1

D, ETUVROLS * QI 8,050
(A) = ADTSFRLOL Y T[0T Re0DTNTOZE

(B) » ATDSFRLODTING), TOBIF 0T,
(C) = RBBIFAODT, Toricd TO[IFICWTP &),
(D) = TOTIFROL HTT FRHSFAONTE,

Cuestion id : 22
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23.

24.

25.

26.

2F,

3 x [3 2

If Vs then «x isequal to
x 1] |4 1

(A) 2 (B) 4

©) 8 D) +2/2

Cuestion Id ; 23

If A 1s a square matrix of order 3 x 3, then |[KA|
1s equal to
(A) KIA|

O K3|A|

B) K2|A|
D) 3K|A

Cuestion Id ;24

The area of triangle with vertices (K, 0),
(4,0), (0, 2) 1s 4 square units, then value of K

18
(A)Oor8

© 0

(B) O or - 8
(D) &

Ax x° 1
By y° 1
Cz z° 1
A B C
A=|x 'y z
Zy IX Xy
(4) Aj=-A

Let A= and

then

B) A,=A

© A, # A

sz
o = {3 if x>2

x = 2, then the value of K is
(A) 3 (B) 4
(©) 3/4 (D) 4/3

@) A,=2A

ifx<2 .
is continuous at

Quesfion Id : 27

23.

24.

25,

26.

27.

3 x 3 2
= TN x & 235030
x: ] 4 1
(A) 2 (B) 4
©)8 D) + 242
Cuestion kd : 23
A 0DO3 X 3TEFOD =[_NF M%ﬁ'Mmﬁ |KA|
T3, 0% 2o
A) K|A| (B) KZ|Al
© K3|Al (D) 3K|A|

Cuestion id: 24

(K, 0), (4, 0), (0, 2) 3on woci:ri%imqﬁ BLRODTOZ
&, 2003 %E’%@E 4 BT [Ny n0 K @ L3gosn

(A) 0 &5 8 (B) 0 ST _ 8
(©) 0 (D) 8
Ax x* 1
A=By y> 1] 3
Cz z° 1
A B C
Ai=|x y z|8GT
Zy ZIX XYy
A) A, T-A B) A,TA
O A+ A D) A, =2A
f(x) o KR 09,800, AT VB D)
x) = Al )
3 ifx>2 ° ¢ ==
X = 2 00T Q BandFmetmn K & Wgoid
A)3 (B) 4
(©) 3/4 (D) 4/3

Question id : 27
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28.

29.

30.

31.

32.

The value of C in Mean value theorem for the
function f(x) =x?1n[2,4]1s

(A4)3 (B) 2
O 4 (D) 7/2

Cuestion Id ; 28

The point on the curve y? = x where the

tangent makes an angle of /4 with X-axis 1s

(A) (1 1 (B) (1 1
2°4 4’2

© (4, 2) M) (1, 1)

CQuestion id : 29

The function f(x)=x?+2x-35 is strictly

increasing in the interval
(A) (-1,00) B) {—ve,—1)

© [-1,) D) (-oo,—1]

Cuestion Id : 30

The rate of change of volume of a sphere with
respect to its surface area when the radius is

4 cm1s

(A) 4cm? / cm? B) 2cm3 / cm?

© 6cm3®/cm? D) 8cm3/cm?

Cuesfion id : 31

Iy tan_l( . C?S 2 }. then diis equal
€COS X —sin x dx
to
(A) 1/2 B) n/4
© 0 D) 1

Cuestion Id : 32

28.

29,

30.

31.

32.

f(x) =x? QD [2, 4]oDE BB
BP0, T, R0eoT T,5o0 C T WIS
A3 (B) 2
(©) 4 (D) 7/2

Cuestion id: 28
y? = x ®8,0eadond Foe cInE WoROATY, VYT
3 RFIPYX @iﬂmo@ﬁ IRRR  TRIYHN /4

Clplevicing

A (11 B (11
(E’Z] [3’5]

©) (4,2) () (1,1)

Cuestion id : 29
f(x)=x%+2x -5 R0OFF, FOHS w03
Sninlessh

(A) (-1,00) (B) (—oo,—1)

© [-1,0) (D) (-o0,—1]

Question id: 30
MREWE W 4 cm SN MRYE e | DAeEFT
TOWOHATIOZ NRST TIFJOT Tow WS

(A) 4cm? / cm? (B) 2cm?® / cm?

© 6cm?/cm? D) 8cm3/cm?

Question id: 31
y = tan_l(sm XTeos x}‘:ﬁ‘ﬁﬁ 9 oo
COS X —sin x dx
A)1/2 (B) 1t /4
©0 (D) 1
Cuestion id: 32
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33.

35.

f(x) g(x) h(x)
Hy= |1 m n |, then jiis equal
x
a b C
to
@ f(x) g'(x) h'(x)
| m n
a b C
B) | 1 m n
f(x) g h'(x)
a b C
O f(x) 1 a
g(x) m b
h'(x) n ¢
D) |1 m n
a b C
f(x) g'(x) W)
If sihnx = 1itt2,tany= 12_ttzl then % 1S
equal to
Aa) 1 B) 0
O -1 (D) 2
The derivative of 005_1(2:{2 _1) W.I.t
cos 'x 18
A) 2 (B) -1
2./1-x*
© 2 D) -4
X

CQuestion kd : 35

33.

35.

f(x) g(x) h(x)
vy | 1 m n |essg dizﬁeﬁ
dx
a b C
A f(x) g'(x) h'(x)
| m n
a b C
B |1 m n
f(x) g'(x) h'(x)
a b C
O f(x) 1 a
g'(x) m b
h'(x) n ¢
D | 1 m n
a b C
f'(x) g'(x) h'(x)

Question kd: 33

sin x = ,tany = 2 wnd E3us
1+t f gl dx
Ayl (B) 0
© -1 (D) 2
Cuestion kd: 34
cos (2:(‘2 —1) D, cos 'y I ARYATR wSodn
(A) 2 (B) =
2./1-x°
© 2 D) 1_,

Question kd: 35
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36.

37.

38.

2

If y =log(logx) then
A —(l1+logx)  ®
(xlog x)*
©  (1+logx) (D)
(xlogx)’
(x+3)e* .
f P dx is equal to
A
(A) 1 L C (B)
(x+4)°
© ¢ (D)
+C
(x+4)

cos2x — cos20

f cosx —cosB
(A) 2(sinx+ xcos8) +C

(B) 2(sinx—xcosB)+C
(©) 2(sinx + 2xcos0) +C

(D) 2(sinx — 2xcosB) +C

Zis equal to

—(1+1logx)

x? log x

(1+1log x)

x* log x

Cuestion Id ; 36

T

=
(x + 4):

+C

X

&
(x+3)

+C

Cuestion Id : 37

dx 1s equal to

Cuestion Id : 38

36.

37,

38.

2
y = log (logx) swen d Y 33 wiedos
dx‘l
@ —(l+logx)  ® —(1+logx)
(xlogx)’ x? logx
©  (1+logx) D) (1+logx)
(xlogx)’ x? log x
X
[ s aon
(x+4)2
A B x
(A) 1 _+C B) s
(x+4) (x +4)
© x (D) ¥
Y Y iC
(x+4) (x+3)
fc052x~c0528 di i sie
cosx — cosB
(A) 2(sinx+ xcosB) +C
(B) 2(sinx —xcosB)+C
(O 2(sinx + 2xcos0) +C
(D) 2(sinx — 2xcosB) +C
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- IJJ;Z +2x+5 dxisequal to
(A)

%(A*Jrl)\/:rz +2x+5+2log

|x+l+\/x3+2x+5‘ +C

(B) (x+1)/x* +2x+5 + 2log

|x+1+\/x1+2x+5‘ +C

(@) (_r+1)\fx:+2x+5—210g

|x+l+ \/:cl 2% 5‘ e

D >
- (:\-+1)\/x'+2x+5+%lng

|.r+l+ X 2x+ 5‘ +C

40. 2 7
¥ 7 tan ' x

-[' -
J. - — dx 1sequal to
0 cot x+tan x

(A) T (B) T
2 4
(©) T (D) T
6 3
41. 5
J| X+2| dx is equal to
-
(A) 29 (B) 28
© 27 (D) 30
42. /2
- e8 1s equal to
J. /2 eSinx 4 q q
(A) 0 (B) 1
© = D) =
2 2

Cuestion id ;39

CQuesfion id - 40

Cuestion Id ;41

Cuestion Id ; 42

* JJ::Z +2x+5 dx T WSO

A
() %(1‘+1)\/.*f2+2x+5+210g

; + C
|x+1+ JP 2%+ 5‘

(B) (x+1) x> +2x+5 + 2log

3 - + C
|x+1+ \/1 +2x+:>‘

© (x+1)+/x2+2x+5—2log

|x+l+ \/x:+2x+5‘ L

& (x+1)\/x'?+2x+5+%lﬂg

|x+l+\/x:+2x+5‘ e

40, e 7.

[ fan X 3 ko

0 cot x+tan x
A =n (B) T

2 4
O T (D) n
6 3
4. 5

I| X+2| dx @ @do3n

=5
(A) 29 (B) 28
(@) 2 (D) 30

42. - .
E]

.[—xr: e o3 eedodn
A0 B) 1
© = (D) =

2 2

Cuestion id; 39

Question kd : 40

Cuestion kd ;41

Cuestion bd ; 42
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45.

46.

47.

a2 1
3 5 — dx 1s equal to
L al.sin? x+b?.coslx 4

(A) ma (B) ma

4b 2b
(©) =nb M =

4a 2ab

Question Id : 43

The area of the region bounded by the curve

y=yx" and the line y =16 is

(A) 32 sq. units (B) 2565q. units

3 3
(©) 64 sq. units (D) 128 sq. units
3 3
Area of the region bounded by the curve

y=cosx,x=0and x=m1s

(A) 2 sq. units (B) 4 sq. units
(O) 3 sq. units (D) 1 sq. unit
The degree of the differential equation

{1 4 (d_y)]-= g 1S
dx dx~

EV
O3

(B) 2
(D) 4

General solution of differential equation

d‘i_er:I(y £ 1) is

dx
(A) 1 B) log|1-y|=x+C
logl—I=x+C
1=y
O log|l+y|=x+C
(D) 1 }
logl—|=—-x+C
1<%

43.

45.

47.

i

‘LL 2 . 2 : 2 2 dx T WY
a“-sin- x+b”-cos” x
(A) ma (B) ma
4b 2b
© =nb D) =xn
4a B
Questiond 43
y=x SRy = 16 Teadoloon $FZn BT
WRCEDF Y
(A) 3 WTTIWINL  (B) 256 BT SRIND
3 3
(O 64 BTOTININD (D) 128 BTT SRINO
3 3
Foead Y =COSX @) x=0 D3 x=7

NP0 953,300 T, TIETTI QRCEIFY
(A) 2 2BTT WRDND (B) 4 WTT [IRTNMED

(O) 3 BTT BRI (D) 1 23TT TRIND

Cuestion id : 45

- ( d_l‘"}‘ - Q STBOR IREBTT
dx dx-
RORREIT WS
a1 (B) 2
©3 (D) 4
Cuestion kd : 46
ji +y=1(y = 1) SFBOZ BITEd AR,
X
TOTOTR)
(A) 1 B) log|1-y|=x+C
logl—I=x+C
-y

O log|l+yl=x+C

(D)

log L|=—x+C
I-y

CQuestion id 47

A W .
gcol [€5edunia:
India’s largest Student Review Platform

T



48.

49,

50.

o1.

52,

The integrating factor of the differential
equation x jl+ 2y = x%18 (x #0)
.
(A) 2 (B) log| x|
(O) glogx D) x

Question id: 48
Ifﬁ:2i +}-..ji+1f: and B: 1 +2j +3k are

orthogonal, then value of A 1s

A) 0 B) 1
© 3 ) 5

2 2

Ifa, b, ¢ are unit vectors such that
i+b+c=0, then the wvalue of
i-b+b-c+¢c-aisequalto
(A) 1 (B) 3
© 3 D) 3
2 2

Question id : 50

If 3 & § are unit vectors, then angle between
dand b for /3 37 —p to be unit vector is

A)30° (B) 45°

O 60° D) 90 °

CQuestion i : 51

Reflexion of the point (a, B,y ) in XY plane 1s
(A) (a,B,0) B) (0,0,v)

©O (-a,-B,v) D) (a,B,-v)

Cuestion i : 52

48.

49.

50.

91,

92.

x ji +2y = % (x #0) SHIOT RGBT
X
ETOTOT STDS T I
(A) 2 (B) log| x|
© losx D) x
Question kd: 45

a=21+A]+k % b=1+2)+3k wow
eBRemen A 13030
A0
©

(B) 1
D) 5

b9 | W2
I-J

CQuestion id: 49

i B GO 98 R0BARNG) SO
i+b+¢=0%WN d.b+b-C+¢.aBWIOI

VR (B) 3
© 3 D) 3
: 2
Cuestion id : 50
R p AOTNH 0¥ IOINEAT, T3

J33 - Db 98 303 swmen 0 1Y SRS §eesT
2363030

(A) 30 ° (B) 45 o
(@) 60 ° (D) 90 o

XY Z03omaoed (a, B,y ) Womdds &,8Wowsy)

© (a>-Bry) ®) (o> Bs-y)

CQuestion id : 52
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23.

59.

56.

The plane 2x - 3y + 6z- 11 = 0 makes an

angle sin~* ( a) with X-axis. The value of a is

equal to
A /3 B /2
2 3
© 2 D) 3
7 f

CQuestion i : 53

The distance of the point (-2, 4, -5) from the
x+3_ y-4_ z+ 815

line
3 5 6
(A) /37 B) (37
10 10
© 37 (D) 37
J10 10

CQuestion id : 54

A box has 100 pens of which 10 are defective.
The probability that out of a sample of 5 pens
drawn one by one with replacement and atmost
one 1s defective 1s

@ 9 B) /g
i i)

2 (9% 19}
) 43
[10) 2010

o)

2\10

Two events A and B will be independent 1f
(A) A and B are mutually exclusive

B) P(A' ~B')=(1-P(A)) (1 - P(B))
(©) P(A) = P(B) D) P(A) + P(B) = |

Cuestion kd : 56

93.

95,

56.

X &8 308 2x -3y + 62— 11 = 0 FTWIOT IBIT
gres sin~! (a) eswen o & W03

@ 3 ® /3
2 3
© 2 ®) 3
7 7
V3L YA L 2% 8 oo Sessonod (-2,
3 5 6
4, =5) VWOTNT BRTR)
A /37 B) (37
10 10
© 37 ® 3
0 10
wodd  FAehOD 100 FBO A O 10

GReRTPOITONS. 5 IRAOT 20w
WOCLROTTOZ  WHCRRHBN WITED, FTIF WO
TRCHTPOZ QTOTOS aéﬁm%ﬁ rslelarniNJevelcievelinle

(A) 2 (B) 1(1)4
10 2110

© 9V 179Y
SR
(10,) 2010
210

A @32 B 203> 3308, FUSNesd en
(A) A 3O B 1i¥0 WO T 09,338 8 peaTnsd

@) P(A' ~B') = (1 _P(A)) (1 _P(B))
(c) P(A) =P(B)

Cuestion id: 55

(D) P(A) +P(B) =1

Cuestion kd ; 56
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of.

58.

59.

60.

The probability distribution of X 1s
X I 3

PX) (03 | k| 2k | 2k
The value of k 1s
(A) 0.14 (B) 0.3
(© 0.7 D) 1

Question id : 57

The shaded region in the figure 1s the solution
set of the inequations

}r

%,5)

(0.3)

/

(6.0)

> X

O (4.0)

(A) 5x+4y>20,x<6,y>23,x>0,y>0
(B)
(O

(D)

Sx+4y<20,x<6,y<3,x=20,y=>0
Sx+4y220,x<6,y<3,x=20,y20
Sx+4y220,x26,y<3,x=20,y=0

Question i : 58
[f an LPP admits optimal solution at two
consecutive vertices of a feasible region, then
(A) the required optimal solution i1s at the
midpoint of the line joining two points.

(B) the optimal solution occurs at every point
on the line joining these two points

(©) the LPP under -consideration
solvable

1S not

(D) the LPP under consideration must be
reconstructed

Question id : 59

3.5 ;
I [x] dx1sequal to

0.2
(A) 4 (B) 4.5
(O 3.5 D) 3

CQuestion id : 60

of.

58.

59,

60.

X & Roygmaecdd Towsd
X RN N

PX) [ 03| k| 2k | 2
estoon k T W3Sodn
(A) 0.14 (B) 0.3
(© 9.7 D)

Cuestion id : 57
ﬁiod:@ﬁ MTOEAT PN TFNT 0INT  $IRINY
TOTIT MeaTTONTOZT.

Al

%,j}

(0.3)

/

0 (4.0) (6.0)
Sx+4y>20,x<6,y>23,x>0,y>0

> X

(A)
(B)
©
D)

Sx+4y<20,x<6,y<3,x>20,y=>0
Sx+4y>220,x<6.y<3,x>20,y>0
Sx+4y2>220,x>26,y<3,x>20,y=>0

Cuestion id ; 58

LPP o® oyges, ©,0e30 Q0@ ©=05@0 3,0nne

308 TPY,RYRY TeLRN

(A) BETT ROT SPO, TOT/T) & ITE WOTINTI,
ORI XTY Teadod T, WOTDTINTIZT.

(B) ART W% TOTTRY) & DHTBE WOTNTFIY,

Hedow  RTY Seasod 0 eOTO NI}
L OTONTINTOTE.
(C) S8R0z LPP 1§ HowtRe) .
(D) &€ LPP odaa'i_& W0 Te3xeTesd.
Question id : 59
3.5 .
I [x] dx & weiono
02
(A) 4 (B) 4.5
©) 35 (D) 3
Question id : 60
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